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1. A# 843 100 7~ » B4 FRE)do -
EEER 2 BALAELSLERAES BB EE AR (48
3. ZFREBEAEEREME—HEE -

1. FREZER 10000 427085 - FETHRER 250 fThl » B 20 EUHER %
BTSE - WEAFFEREIF MR S00BPL 2Ry » IRG R 0.55 Tl » SHRISnig (L Fang
WRIERSD ? |
(A) 5285 (B) 5275.55 (C) 5275 (D) 5285.55

2. THEIRE—FRBIAR SRR SESREERL ?

ID | Gender | Amount | Distance | Location
Al P1 10 10 Cityl
A2 P2 20 10 »| Cityl
A3 | P2 30 20 City2
A4} Pl 40 15 City3
A5 P1 20 10 Cityl
(A) INF (B) 2NF (C) 3NF (D) BCNF

3. THAE BB RNREKEY )R - BERSRAAIE (fzik) ?
(A) B B) H#HE © K5l4E (D) —HAE

4. FHIFE » TR BRI 5 Transaction)KEL I 7
(A) BT Atomicity (B) —EM#: Concurrency
(C) #E%ME Dependence (D) i Isolation

5. B REOREAEL SR N S S Y - JET SR F e
> SRS — R R A SR R a1+ B SR AN ©

(A) FRHES! replication (B) 7kZE43-#1 horizontal Partitioning
(C) FHEE/E| Vertical Partitioning (D) DL st |
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6. T%1 SQL fawr H2F IR T aEE 25000 SRS » #RT (2) (b) ZHIE
REAE 7 |
SELECT DEPTNAME, AVG (EMPSALARY) FROM QEMP
(a) BYDEPTNAME
(b) AVG (EMPSALARY) > 25000

(A) SELECT SORT (B) SORT COMPUTE
(C) HAVING GROUP (D) GROUP HAVING

7. £ MySOL RS » BRI TIHTH » RBERREAFES ?
®s - ® ©* ®) %

8. A Oracle 9 EORESEIR » ETHFSISM » IISIE SQL SRS > 55
R R FRCR TR TR 2 i -
(A) T EATYHE R ®) R%i8 LINUX {EE %4

(©) S EAREAERHREA D) LLEEIE

9, THHTH BB EE 2B (Entity Relation Database)fBRESER (Relation
Operation) ? '
(A)fRHI(Restriction) (B)i&5 (Projection)
(C)53#l(Division) D)L R

10. BHETFORIEERS » TRk (Normalization) ZERFIAIMHGEME - EHREIFAY
I LRSS RSB S B RIF SRR AR | LR
BEARRMESE RS BE - TS Boyce-Code IEAAL, » B © 1 RETEARMLAIBNE
(Relation) b = FETERUL R BEFRFRATE 7

(A)Partial Dependency (B)Repeating Group '
- (C)Transitive Dependency (D)Relational Dependency
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11. 4+ (Kaplan & Norton ) %ﬁéﬂﬁﬁ%ﬁlﬂﬁ%ﬁ’@Iﬁ » A A RS R R BT
B > G EIE S » 357 Kaplan & Norton HYZSEiEH- KA BT
A - B R BERE ®AN - NEEE - - HReE
(CYLTFRISE ~ B B30 ~ ol (D)BIHS ~ AT ~ BERSE - 1]

12. BHEBEEZR (Davis » 1989 ) T FIZRAFREIE I HERATRI BRI - SRIEZER)
Fl ORI > 56 (2) 1 (b) BHEEE 7
(AFEFRME - iR 5 B)FIFERM: » FIEUTRE
(OFRGEBME - ABEAME: (DYAEBRANE: » VBRI

13. 255 (a) HEFEEEE %%%ﬂ?éﬁ%ﬁ%ﬂi%%@%@iw ’ ﬁW?—é’%@ﬁﬁ%@l
| EETRER - MERE—ER AR EEIEF RS » VEHE - FEEHT -
HIEA ~ BEHR ~ (b) ~ () ° FEMIZAE ()R —2% ? LRSS/ REREENDL) ~ O)F/EH
fa] 9 |

(A) Loudon » 3Z BEEAHY » {CHHEH (B) Davenport » FREEEIEE > FHFIHH
(C) David » BlEESHR » RAKH (D) Nolan » ZERMETERA » BRENH

14. McFarlan-Mckenny 38 FH R AU E R TA S S ERIE I I 5% - SLie%
RO RVIE T - RT3 ?
(A) SRR ~ B - SR - BB (B) HEEFED - SRR - OIRAL - BRI
(C) BHEA - TRRA - RAL - TEEL (D) SRMSEL - TR - oIl - s

15 M B EER AR Wired FEEE45 » Chris Anderson 7E 2004 RS -
" ERAMEBA R SR BT TR » SRR S BB R Niches) 7S
A DB BB AL AR a8 E] » AN R B HiE
B P R R S R » (E R REBRAE A - RS SR
RS EEETENIER - RNSHSmY S
(A)8020%:H] (B HHBE ©) ERE® (D) HCEmh
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16. Leavitt(1958)K$E A f=\(Diamond Model) » RIMTABEMBITEEEE - AR
Bkiax P 20 RO R A el e .
(A) IIF - REEE - A8 B (B) 1EH; ~ BT(A) ~ ABiEHE ~ Bl
(C) Tl ~ B ~ 22 ~ B (D) M7 ~ B ~ WERER - EERER

17. FEHE - BERR AR AESHEEE AR - EEiERE
BRI I R~ 1 KR AR T RES S SRR
B I L B A R R BRI HR SR DR R AR EIRYT » ISEER A
% HEEERREEEROMEESE - f0PC - T - L - EEHSBCR ©
(A) Web2.0 (B) Wiki (C) Ubiquitous (D) M 4k,

18. CMMI SR RHUBR AR RERE ST » MREHTAHYASERE(Commitment) ~ S EERETT A
B> BN EER - TIERIE? |
(A) —fix/Eif(General) (B) ER/E(Repeatable)
(C) EZEB(Defined) (D) B EiHf(Managed)

19. BN ARHESEREMEAT  AFTHRER - T EXREAMEAT - A0TSR -
RS B B S R (Repetitive stress injury, RST) » 55— R BT AR IR
EIMSREFTE ARSI - A REER - TR - IREEZRANE - R R ?
(A) Computer vision syndrome, CVS (B) Computer vision abuse, CVA
(C) Computer vision overloading, CVO (D) Computer vision therapy, CVT

20. Mintzberg, BRI TIEDB S A » DUR-FETEE SR T IFRE S fatafT
EEIE?
(8) AEHIAE (B) TAMAE (O PsEWAs (D) HENea

21. Let A=1, B=2, C=3, D=4, and E=5. Let the value of the postfix expression -
BBE+A+*D/BC*DB//+A- be y. Then, y mod 4=?

(A)0 ®)1 (©)2 | D)3
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22, Let X1 Xs...... Xs be the order of nodes visited by applying BFS in Fig below, starting

from node S (visited in the lexical order), X, =2

AV BX OY DZ |
S T
\z__/v
/ AN

X Y

23, Which of the following statement for quick sort is wrong?
(A) Quick sort has O(n log n ) average performance.
(B) Quick sort has worst case O(nz) performance.
(C) The best case performance of quick sort is O(n log n).

(D) We can use a random number generator to improve the performance of Quick sort, we

then have the worst case performance O(n log n).

24, Let A=n""®", B =logn”, C = (logn)'®® , D =n +logn and E = loglogn. Arrange the five
functions by their orders of growth rate in increasing order.
(A)E<D<C<B<A (B)E<D<B<C<A

(C) D<E<B<C<A (D) E<B<D<A<B
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25 Minimum spanning tree of a weighted graph can be solved by using the Kruskal’s
algorithm. Given a weighted graph G=(V, E), there are |V| vertices and |E| edges. Which
statement is wrong? o |
(A) Kruskal’s algorithm is a greedy approach, i.e., we iteratively select the least weight

edge and test if the edge can be a tree edge.
(B) To select the least weight edge can be implemented l;y using a heap or presorting the
edges by their weights. Using a heap could be more efficient than presorting the edges. '
(C) To test whether a selected edgeisa treé edge, we can use the Union—Find algorithm.
The testing takes O ( [V| ain,n)) time, where a{m,n) is the inverse of the Ackermann’s
function.

(D) There could be many spanning trees that are all minimum spanning tree in G.

26. For a general tree of degree 4, if the node number is 300, what’s the minimum depth of the
tree?

(A)3 B) 4 ©5 ™6

27. Starting with the 2-3 tree below, the kcys 70, 30, 60, 50 are inserted in order. How rhany
node splits will occur?

(A)2 (B)3 © 4 D)5
(40?

_—

(10,20) (80)
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28. A mathematical function that generates a code from the content of a message so that
different message will likely to generate different codes, and it is very difficult to
determine the content of the message given only the code is

(A) Hash (B)Trashing (C) Two-way function (D) Mash
29. An Euler circuit in a graph is a cycle in which every edge is visited exactly one. Which of

the graphs has not an Euler circuit?

(A) (B)

2=

30. Which of the following algorithms solves the all-pair shortest path problem?

(C)

" (A) Dijkstra’s algorithm (B) Floyd’s algorithm

(C) Prim’s algorithm (D) Warshall’s algorithm

31.RIP i OSPF Efif ?

(A) FEES IR (B) FEME (C) FEHE (D) MEpESE

32. M — N R R B TR LAF 7
(A) ERES (B) BEifFHL (© FsEig (D) FERREH
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33 SRR AR A R R AT 2
(A) IPSec (B) WEP (C) https (D) 802.11

34 BEFRIAYHET: - THTEAER ?
(A) FHRRH /MR 64Bytes WEEFNHER 4
B) SEHHER R IR A A AR R
() oA TR B L RS (8 2 A L
- (D) ARSI —ETEISEORER NI - P e B A Y
RN TS AR | | |

35. T FIBRES MAC fizhhBE IP fribiofit » FoHARE:R 2
(A) MAC hibE S FBEES At
(B) IP Azii- AR AR -
(C) —BEHEANER P 5 MAC firil# REeE—fE
(D) FrS TR 1 B9 MAC (rEHE RS EEREAIE

36.46 132.86.31.0 ~ 132.86.32.0 ~ 132.86.33.0 ~ 132.86.34.0 JEITHEINAES » AUEERER
BT ? |

(A)255.255.192.0  (BB) 255.255.224.0 (C) 255.255.240.0 (D) 255.255.252.0

37.8%5A TCP 52 UDP Lhisiofet » FIUIEER ?
(A) TCP W BRI T S0
(B) TCP p i i |
(C) A LR ARG RSE T D E UDP £ TCP 3£
() TCP T FEMRE —
%Eﬁﬁﬁ%,J
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38 FHIfAETN e ICMP E2Urf Timestamp Y FEELRE ?
(A) WEFSETRNERTEE (B)EHAREA T R R 5 B
© #EFE AR ERNERGELGEN (D) ERERE AR

39. PPPoE ST OSI Hf—I@ fRnThEs ?
() EREEE B) HHE ©) W@ - (D) ZEE

40. T HAE R EHERR RN ERREE A 2T - s ?
(A) BEME ®) &% (O FTHERE ) HEEE






